PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) MINION

(A) monster   (B)quorum   (C) majority  (D) host  (E)dependent
(2) MIRAGE

(A) dessert   (B)illusion   (C)water   (D)mirror   (E)statement

(3)  MISANTHROPE

(A) benefactor  (B)philanderer   (C)man-hater   (D)aesthete   (E)epicure

(4) MISCHANCE

(A) Gamble   (B) ordinance   (C) aperture   (D) anecdote (E) adversity
(5)  MISDEMEANOUR

(A) felony   (B)peccadillo   (C)indignity   (D)fiat   (E)illiteracy
(6)  MODISH

(A) sentimental   (B) stylish  (C)vacillating   (D)contrary   (E)adorned

(7) MOLLIFY

(A) avenge   (B)attenuate   (C)attribute   (D)mortify   (E)appease
(8)  MONETARY

(A) boring   (B)fascinating   (C)fiscal   (D)stationary   (E)scrupulous

(9) MORATORIUM

(A) burial   (B)gathering   (C) delay  (D)refusal   (E)suspicion

(10) MORDANT

(A) dying   (B) trenchant  (C) fabricating  (D)controlling   (E)avenging

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) DISREGARD

(A) admit   (B)evade   (C)heed   (D)improve   (E)prevent

(12) VERACITY

(A) Uncertainty   (B) mendacity   (C)plausibility   (D)intuition   (E) opposition

(13) BEDECK

(A) erect   (B)awake   (C)isolate   (D)cleanse   (E)strip

(14) ESTRANGE

(A) Reconcile   (B)feign   (C)perplex   (D)arbitrate   (E)commiserate

(15) SPURIOUS

(A) cautious   (B)fantastic   (C)modest   (D)genuine   (E)pertinent

(16) PROVIDENT

(A) manifest   (B)prodigal   (C)thankful   (D)tidy   (E)refuted

(17) CAPITULATE

(A) initiate   (B)defame   (C)exonerate   (D)resist   (E)repeat
(18) INDIGENOUS

(A) affluent   (B)parochial   (C)alien   (D)serene   (E)inimical

(19) SALUBRITY

(A) unwholesomeness   (B)insolvency   (C)dissatisfaction   (D)diffidence   (E)rigidity

(20) QUAI

(A) hover   (B)tolerate   (C)arouse enmity   (D)become resolute   (E)abstain from action

Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets refer to Question numbers.

In a sense the university had failed. It has stores great quantities of knowledge; it teaches more people; and despite its failures, it teaches them better.__D___ . Of the great branches of knowledge- the sciences the social sciences and humanities- the science are applied. Strenuous and occasionally successful efforts are made to apply the social sciences, but almost never are the humanities well applied. We do not use philosophy in defining our conduct. __E____. The great task of the university in the next generation is to learn to use the knowledge we have for the questions that come before us. __F___ The difference between a primary problem and a secondary or even tertiary problem is that primary problems tend to be around for a long time, whereas the less important ones get solved. 

One primary problem is that of interfering with biological development. ___A____. Obviously, there are benefits both to individuals and to society from eliminating, or at least improving, mentally and physically deformed persons. On the other hand, there could be very serious consequences if this knowledge were used with premeditation to produce superior and subordinate classes, each genetically prepared to carry out a predetermined mission. __B___, Here we have a primary problem that will still exist when we are all dead. Of course, the traditional faculty members would say. “__C____”. And certainly they would not learn, but they would learn some other things. 

A. The next generation, and perhaps this one, will be able to interfere chemically with the actual development of an individual and perhaps biologically by interfering with an individual’s genes.

B. This can be done, but what happens to the free will and the rights of the individual

C. But the students won’t learn enough to go to graduate school

D. It is in the application of this knowledge that the failure has come. 

E. We do not use literature as a source of real and vicarious experience.

F. The university should organize courses around primary problems

G. The universities greatest shortcoming is not to help students see the relevance of humanities to real problems.

H. It is difficult for modern students, accustomed to the minute of film, to appreciate opera.

I. It is necessary students to require to include in their curricula liberal arts courses.

There can be no doubt that the emergence of the Negro writer in the post-war period stemmed, in part, from the fact that he was inclined to exploit the opportunity to write about himself. It was more than that, however. The movement that has variously been called the “Harlem Renaissance, the “ Black Renaissance,” and the “ New Negro Movement” is essentially a part of the growing interest of American literary circles in the immediate and pressing social and economic problems. This growing interest coincided with two developments in Negro life that fostered the growth of the New Negro movement. These two factors, the Keener realization of injustice and the improvement of the capacity for expression, produced a crop of Negro writers who constituted the “Harlem Renaissance”. 

The literature of the Harlem Renaissance was, for the most part, the work of a race-conscious group. Through poetry, prose, and song, the writers cried out against social and economic wrongs. They protested against segregation and lynching. They demanded higher wages with shorter hours, and better conditions of work. They stood for full social equality and first –class citizenship. The new vision of social and economic freedom, which they had, did not force them to embrace the several foreign ideologies that sought to sink their roots in some American groups during the period.


The writers of the Harlem Renaissance, bitter and cynical as some of them were, gave little attention to the propaganda of the socialists and communists. The editor of the Messenger ventured the opinion that the New Negro was the “product of the same world –wide forces that have brought into being the great liberal and radical movements that are now seizing the reins of power in all the civilized countries of the world”. Such forces may have produced the New Negro, but the more articulate of the group did not resort to advocating the type of political action,  that would have subverted America’s constitutional government. Indeed, the writers of the Harlem Renaissance were not so much revolting against the system as they were protesting its inefficient operation. In this approach they proved as characteristically American as any writers of the period. Like his contemporaries, the Negro writer was merely becoming more aware of America’s pressing problems; and like the others, he was willing to use his art, not only to contribute to the great body of American culture but also to improve the culture of which he was part. 


It seems possible, moreover, for the historian to assign to the Negro writer a role that he did not assume. There were doubtlessly many who were not immediately concerned with the injustices heaped on Negro’s. Some contrived their poems, novels, and songs merely for the sake  of art, while others took up their pens to escape the sordid aspects of their existence. If there is an element of race in their writings, it is because the writings flow out of their individual and group experiences. This is not to say that such writings were not effective as protest literature, but rather that not all the authors were conscious crusaders for a better world. As a matter of fact, it was this detachment, this objectivity, that made it possible for many of the writers of the Harlem Renaissance to achieve a nobility of expression and poignancy of feeling in their writings that placed them among the maters of recent Americans literature.

(27)
The author is primarily concerned with 

A. Arguing that the literature of the Harlem renaissance arose  from the willingness of black writers to portray their own lives

B. Depicting the part played by socially conscious black writers in a world wide ideological and literary crusade

C. Providing examples of the injustices protested by the writers of the Harlem renaissance

D. Describing the social and political background that led to the  blossoming of the Harlem Renaissance

E. Analyzing stages in the development of the New Negro Movement into the Harlem renaissance

(28) 
In reference to the achievements of the Harlem renaissance, the passage conveys primarily a sense of 

A. Protest

B. Betrayal

C. Nostalgia

D. Urgency

E. Admiration

(29)
Which of the following is implied by the statement that the writers of the Harlem Renaissance “were not so much revolting against the system as they were protesting its inefficient operation”

A. Black writers played only a minor part in protesting the injustices of the period

B. Left to itself, the system was sure to operate efficiently

C. Black writers in general were not opposed to the system as such

D. In order for the system to operate efficiently blacks must seize the reins of power in America

E. Black writers were too caught up in aesthetic philosophy to identify the true nature of the conflict.

(30)
With which of the following statements regarding the writers of the Harlem Renaissance would the author most likely agree?

A. They needed to increase their commitment to international solidarity.

B. Their awareness of oppression caused them to reject American society.

C. They transformed their increasing social and political consciousness into art. 

D. Their art suffered from their over involvement in political crusades.

E. Their detachment from their subject matter lessened the impact of their works.

(31)
The information in the passage suggests that the author is most likely

A. A historian concerned with presenting socially conscious black writers of the  

     period as loyal Americans.

B. A literary critic who questions the conclusions of the historians about the Harlem    

    Renaissance.

C. An educator involved in fostering creative writing projects for minority youths.

D. A black writer of fiction interested in discovering new facts about his literary roots

E. A researcher with questions about the validity of his sources.

(32)
Which of the following statements best describes the organization of the passage (“ the writers ………… constitutional government”)?

A. The author cites an authority supporting a previous statement and then qualifies the original statement to clarify its implications.

B. The author makes a point, quotes an observation apparently contradicting that point, and then resolves the inconsistency by limiting the application of his original statement.

C. The author makes a negative comment and then modifies it, first by quoting a statement that qualifies its impact and then by rephrasing his original comment to eliminate its negative connotations.

D. The author summarizes an argument, quotes an observation in support of that argument, and then advances an alternative hypothesis to explain potential contradictions in that argument.

E. The author states a thesis, quotes a statement relevant to that thesis, and then presents two cases, both of which corroborate the point of the original statement.

PART II

Q1. 
Fill in the missing number in the sequence  

5   
7  
11 
 ?? 
35        67      

(a) 15    (b)32    (c) 19   (d) 18  (e) 24

Q2.
In the following series, how many Ws are there such that each W is followed by an F next to it if the F is not followed by a S next to it? 

W    F    W    S    Q    M    W    F    S    M    F    W    F    F    W    Q    M    W    

W    F    Q    W    F    S    F    W    A     M   F    W    F    M

(a)3
(b)2
(c)1
(d)4
(e)6

Q3.
If SOHDVH is coded as PLEASE how will JDLQ be coded?


(a) MIND
(b) ALERT
(c) TRIAL
(d) BRAVE
(e) GAIN

Q4.
Suppose the first and second letters in the word ORGANISATIONAL were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the twelfth letter counting from the right.

(a) T 

 (b) I

   (c) G

   (d) O

   (e) A 

Q5.
In which number system would 1362 represent the decimal number 534?

(a) Base - 6    (b) Base - 8    (c) Base - 7    (d) Base - 5   (e) Base – 9

Q6.
What is the largest prime number that can be stored in an 8-bit word computer?

(a) 197                 (b) 221               (c) 251             (d) 231           (e) 257

Q7.
If n = 10 x 18 x 22, which of the following is NOT an integer?


(a)
n / 132

(b)
n / 39

(c)
n / 55


(d)
n / 40

(e)
n / 45

Q8.
Which of the following is a power of 3?


a.
2187

b.
2672

c.
2739


d.
2898

e.
2414

Pick the odd one out

Q9.
(a)
UNIX


(b)
WINDOWS NT
(c)
LINUX

(d)
MVS


(e)        SQL SERVER 

Q10.
(a)
SAP


(b)
HTTP


(c)
WAP


(d)
SMTP


(e)        ARP

Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(2m,3m,6m)
(b)
(3m,2m,4m)
(c) 
(3m,4m,5m)

(d) 
(3m,3m,3m)     (e) 
(5m,3m,5m)

Q12.
The three numbers in brackets in each of the following options represents the number of vertices, the number of edges and the number of faces respectively. Find out which of these represents a solid planar cube?

(a)  (4,8,6)
(b)  (8,12,6) (c)  (8,4,6)  (d)  (4,4,4)   (e)  (6,12,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
7, -7, 7, -7, 7, -7  
(b)
-7, -7, -7, -7, -7, -7 (c)
7, 0, -7, 7, 0, -7

(d)
7, 7, 7, 7, 7, 7

(e)
7, 7, 7, 0, 7, 7


The three circles below represent the number of students passing in Science, Hindi and History.  Answer the next three questions based on the diagram
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Q14.
How many more (or less) students passed in Science than students who passed in History?


(a) 1
(b)2
(c)3
(d)4
(e)6

Q15.
What percentage of students passing in English also pass in History but not in Science?

(a)13
(b) 17.4
(c)16
(d)18
(e) 19

Q16.
What percentage of total passed in all three subjects?

(a)3
(b)2
(c) 6
(d)5
(e)4


The figure on the left represents number of distributors for a Company and the figure on the right depicts region-wise distribution for 1998
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Distributors (in "00s)
Q17.
Which year has registered the maximum percentage growth in distributors?

(a) 1998
(b) 1995
(c) 1996
(d) 1686
(e) 1888

Q18.
What is the average number of distributors for 1995-1999?

(a) 7700
(b) 6800
(c) 4800
(d) 8800
(e) 7800

Q19.
If 10% of distributors in 1998 left the Company, how many fresh distributors were made in 1999?


(a) 4500
(b) 4900
(c) 4800
(d) 4400
(e) 5400

Q20.
A hypothetical physical quantity is defined as


                 (Force X Distance) 

                           (Velocity X Velocity)


In what fundamental units would this quantity be expressed?


(a)Time
(b) Power
(c) Velocity
(d) Distance
(e) Mass

Q21.
A and B together can do a piece of work in 14 days. If A does twice as much work as B in a given time, find how long A alone would take to do the work?


(a) 24
(b) 21
(c) 28
(d) 14
(e) 7

Q22.
Which of these matrices is singular

[image: image3.bmp][image: image4.bmp][image: image5.bmp][image: image6.bmp]


    21       15
          33  -5
             1     0
   
10     12


  A =

            B =

    C =

   D = 



    7        5
           6   -1
             1     2

  3       4


(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Mammal – Cow

(1)
Not a type of


(ii)
Bug – Reptile


(2)
Part of


(iii)
Beagle – Dog


(3) 
A type of


(iv)
Piston – Engine

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If $ stands for change of sign and # stands for tripling what is the value of 

# $ # (8)  -  $ # $ (8)?

(a)-89
(b)87
(c) -96
(d)92
(e)67

Q25.
A sequence is defined recursively as



g(0) = -1;
g(1) = 1



g(n) = g(n-1) - g(n-2)


What will be the value of g(6)?



(a)3
(b)-2
(c)-1
(d)1
(e)2

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X(7,9) is stored linearly row-wise in a computer's memory. Each element requires 2 bytes for storage of the value. If the first byte address of X(1,1) is  3000, what would be the last byte address of X(5, 8)?

(a)3127
(b)3427
(c)3087
(d)3421
(e)3651

Q28.
Of the four vectors A,B,C,D find out which pair forms an orthogonal set

A = 3i+2j, B =  i+j ,  C =  2i-3j, D =  -7i+j 


(a)AC
(b)AB
(c)AD
(d)BC
(e)BD

Q29.
Evaluate the expression 

M(843,11) + R(5.8) + T(7.7) - R(3.4) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)16
(b)17
(c)15
(d)14
(e)12

Q30.
Three independent strategies A, B and C have been initiated for cost cutting in a company producing respectively 40%, 30% and 10% savings. Assuming that they operate independently, what is the net saving achieved?

(a) 68%
(b) 62.2%
(c) 64%
(d) 65.2%
(e) 63.2%

Q31.
The scores in class exams and final exam of 2 students are given as below:



Class exam

Final exam



3


1.4



3.5


1.65


Find the Final exam score of a student who has scored zero in the Class exam.


(a) 0.3
(b) 0.1
(c)-0.1
 (d)-0.2
(e) 0.5

Q32.
What equation best describes the curve shown below:


(a) y = tan x
(b) y + 3 = x
(c)y + x = 0
(d) y = Cos x
(e) y = ex

Q33.
The temperature at Kochi is given by the function: -t2/6+4t+12 where t is the elapsed time since noon. What is the percentage rise (or fall) in temperature between 3.00 PM and 6.00 PM?


(a) 34.7%
(b) 34%
(c) 35%
(d) 37.9%
(e) 39%

Q34.
An aircraft takes off from A (89o N Lat, 40o E Long) at 2.00 AM local time to B (32o N Lat, 40o W Long). If the flying time is 8 hours what is the local time of landing at B?


(a) 5.40 AM
(b) 4.00 AM
(c) 4.40 AM
(d) 7.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	(A (C ) ( B
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.



(a) 55
(b) 45
(c) 54
(d) 57
(e) 58

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.11 N
(b) 11.011 N
(c) 11.01 N
(d) 10.101 N
(e) 10.011 N 

Q37.
The productivity of a team of engineers is given by the function 

P (N) = 4000 √N, where N is the total strength. Find the percentage change in productivity if the strength of the team is increased by 1%.


(a) 0.75%  
(b) 0.25%
(c) 1%
(d) 0.5%  
(e) 2%

Q38.  A optical cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 1800 
(b) 3900
(c) 2800
(d) 2100
(e) 2700

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) At a congress of the Progressive Federal party, the seven top party leaders, who are all cabinet ministers, are seated on the platform in the order of rank. The Prime minister, the party leader, is in the center. The closer a person is to the Prime minister, the higher is his or her rank, with a person on the Prime minister’s right out ranking one equidistant from the Prime Minister on her left. The seven leaders are Arning, Brenner, Civili, Dorner, Eckland, Fentz, and Grell.

Fentz is four places to the left of the Minister of Agriculture, who is two places to the right of Civili. Brenner’s neighbors are Arning and the Minister of Agriculture. Grell is two places to the left of Dorner. The Ministers of Education, Mining, and Culture are seated together, in that order, from left to right. The remaining ministers are those of Social Welfare and Defense.

1. The Minister of Culture is

(A) Arning

(B) Brenner

(C) Civili

(D) Dorner

(E) Eckland

2. The fifth ranking person in the party hierarchy is 

(A) Grell, the Minister of Mining

(B) Fentz, the Minister of Culture

(C) Doorner, the Prime Minister

(D) Eckland, the Minister of Defense

(E) Arning, the Minister of Education

3. The Minister of Social Welfare

1. Outranks the Minister of Defense

2. Is outranked by the Minister of Mining

(A) 1 only

(B) 2 only

(C) 1 and 2 only

(D) 1 or 2, but not both

(E) Neither 1 or 2

4. How many of the seven party leaders outrank the Minister of Education?

(A) 2

(B) 3

(C) 4

(D) 5

(E) 6

(2) Mrs. F, official hostess of New York City, has invited several wives of delegates of the United Nations for an informal luncheon. She plans to seat her eleven guests so the each lady will be converse with at least the person directly to her right or left. She has prepared the following list.

Mrs. F speaks English only.

Mrs. G speaks English and French.

Mrs. H speaks English and Russian.
Mrs. J speaks Russian only.

Mrs. K speaks English only.

Mrs. L speaks French only.

Mrs. M speaks French and German.

Mrs. N speaks English and German.

Mrs. O speaks English and French.

Mrs. P speaks German and Russian.

Mrs. Q speaks French and German.

Mrs. R speaks English only.

1. Which of the following arrangements will meet Mrs. F’s requirement?

I. FOLMPJHKGQNR

II. FRNLPKHJGMQO

III. FRGJHOLMQPKN

(A) I only

(B) II only

(C) III only

(D) I and II only

(E) I and III only

2. If the ladies seated to the right of Mrs. P are respectively, MGHKFO, who must sit at Mrs. P’s left hand?

(A) J

(B) L

(C) N

(D) Q

(E) R

3. If seven of the ladies have seated themselves in the following order: NGFROMQ, who must be the next lady seated?

(A) H

(B) J

(C) K

(D) L

(E) P

4. Mrs. F has decided upon the following seating arrangement:

R K G Q N F O L M P J H

At the last minute, Mrs. H and Mrs. P inform the hostess that they will not be able to attend. Which of the following adjustments will allow Mrs. F’s seating requirements to be met?

I. Seat Mrs. J between Mrs. K and Mrs. G

II. Seat Mrs. J between Mrs. Q and Mrs. F

III. Seat Mrs. J to the right of Mrs. N

(A) I only

(B) III only

(C) I or II only

(D) II or III only

(E) Neither I, II, not III

(3) The Homer Museum of American Art is open daily except Monday from 11 A.M. to 5 P.M. Tuesday and Thursdays museum remains open until 8 P.M. 

The spring special exhibition are: 

“Albert Pinkham Ryder, A Retrospective,” which is on view from Friday, April 24, through Sunday, May 31, in the Pollock Wing; “ Precursors of Thomas Eakins,” from Friday, May 8, through Sunday, July 6, in the Third Floor Gallery; and “ The Hudson River School,” in the John Twachtman Gallery, which is closed Tuesdays, from Friday, May 1, through Sunday,  May 24 only. 

The Pollock wing is closed Thursdays during May.

1. If Dan can visit the museum only after 5 p.m., or on Saturday and does not wish to view more than 1 special exhibition in a day, he can see all 3 special exhibitions in the briefest time by starting with:

(A) “The Hudson River School” on a Thursday

(B) The Ryder Retrospective on a Saturday

(C) “Precursor’s of Eakins” or the Ryder Retrospective on a Tuesday

(D) “Precursor’s of Eakins” on a Thursday

(E) Any exhibition on a Saturday

2. Ellen wishes to visit the special exhibitions on successive Thursdays. This is possible only if she visits 

I. The Ryder Retrospective in April

II. “The Hudson River School” second

III. “Precursor’s of Eakins” immediately following the Ryder Retrospective 

(A) I only

(B) II only

(C) I and II only

(D) II and III only

(E) I, II and III

3. Ralph can visit all three special exhibitions on one day if he goes on 

I. Every Saturday in May

II. The second, third, fourth Saturday in May

III. Any Tuesday or Friday between May 5 and May 22

(A) I only

(B) II only

(C) III only

(D) I and III only

(E) II and III only

4. Terry visits the museum on an afternoon 6 days after the opening of “The Hudson River School”. Which of the special exhibitions may he visit.

I. The Ryder Retrospective 

II. “Precursor’s of Eakins” 

III. “The Hudson River School” 

(A) I only

(B) III only

(C) I and II only

(D) II and III only

(E) I, II and III
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